Spoutnik sur 2 Trefles

1)

a AV65 Sud Ouest Nord Est
v 43 1w 2%
¢ RV54 ?

& 1087

2)

a DV1095 Sud Ouest Nord Est
v 52 1w 2%
¢ AV63 ? - 2¢ -
& 87 ?

3)

A AG65 Sud Ouest Nord Est
v R87 1w 28
¢ R9852 ? - ¢ _
% 43 ?

4)

A R985 Sud Ouest Nord Est
v V5 le 2
¢ V43 ?

& 8543

5)

a 9852 Sud Ouest Nord Est
v A54 le 2&
¢ 3 ? - Contre -
* RV973 ?

6)

a A654 Sud Ouest Nord Est
v RV98 le 2%
¢ V3 ? - 2¢ -
& 842 ?

7)

a AD54 Sud Ouest Nord Est
v D4 le 2%
¢ V53 ?

% 9875

8)

A 54 Sud Ouest Nord Est
v AD54 le 2%
¢ RV76 ? - 24 -
& 872 ?




